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- 1kn (m) = 1l (m) = +1m (em) =
- 1km (o) = - lcm (nf) = - lha (a) =
lem (m) = 1k () = 1d () =
Im () = 1t (ke) = 1 g (kg) =
lomg (g) = 145 (B) = 1REM (B) =
1R (KMH) = 2EMA (F) =

800m (m) = 3000 cm (m) =

6. 3a (m) = - 220m (a) =

390a (ha) = 0. 5ha (nf) =

- 6. 1 (em ) = -800em ( ) =

0. 6k () = -9300m (k ) =
-650m () = 4 kg (g) =

+2060¢g (kg) = 6. 5t (kg) =
+880kg (t) = *300mg (g) =

- 31 54 (FEM) = 23458 (&) =

- 5. 8K (&) = 4. 54 (B) =

-8000kg (t) = - 1km (a) =

+3600a (ha) = 0. 2g (mg) =

1. 5km (m) = +450¢g (kg) =

- 500m (m) = 1. 25g (mg) =

- 8km (em) = + 5m (mm) =

+300m (m) = *lcm (m ) =

+1m (k ) =



